#16A51-HAND TOOLS

ltem MM # DESCRIPTION
1 112667 |BAR,WRECKING,CARPENTER'S, 18 IN.
2 112668 |BAR,WRECKING,CARPENTER'S, 24 IN.
3 112669 |BAR,WRECKING,CARPENTER'S, 36 IN.
4 112670 |BAR,CROW,PINCHPOINT, 36 IN.X 7/8 IN.DIA.
5 112671 |BAR,CROW,PINCHPOINT,60 IN.X 1-1/4 IN.DIA
6 112672 (BAR,PRY, 1-3/8IN., 12-1/2 IN.LENGTH
7 112673 |[BEVEL, 5-1/2 IN.HANDLE, 8 IN.BLADE
8 112743 |BIT,SCREWDRIVER, 1/4 HX INSERT, #1 PHIL.
9 112744 [SCREWDRIVER, 1/4 HX INSERT, #2 PHIL
10 112745 |(BIT,SCREWDRIVER, 1/4 HX INSERT, #3 PHIL.
11 112746 |BIT,SCREWDRIVER,W/FINDER F/6F-8R SLT.SCR
12 112798 |BLADE,HACKSAW,POWER,14T,12 IN.L,.025 THK
13 112799 |BLADE,HACKSAW,POWER,18T, 12 IN.LONG
14 112800 |BLADE,HACKSAW,POWER,24T, 12 IN.LONG
15 112801 |BLADE,HACKSAW,POWER,32T, 12 IN.LONG
16 112807 |BLADE,CUTTING,UTILITY,HVY DUTY,5 PER PK.
17 112821 |BLADE,SAWZALL,14T,6",METAL 3/16"-1/4"
18 112822 |BLADE,SAWZALL, 18T,6",METAL 1/8-3/16"
19 112824 |BLADE,SAWZALL,WOOD,6T,9", TAPER BACK
20 112825 |BLADE,SAWZALL,WOOD,6T,12", TAPER BACK
21 112827 |BLADE,SAWZALL,GENERAL PURPOSE,10/14T,8"
22 112864 |CHALK,SNAP LINE REFILL,BLUE, 8 OZ.
23 112866 |CHALK,SNAP LINE REFILL,RED, 8 OZ.
24 112938 |CUTTER,TUBE,MIDGET, 1/4 TO 1-1/8 IN.TUBE
25 112939 [CUTTER,TUBE,HI-DUTY,1/8 TO 1-1/8 IN.TUBE
26 112940 |[CUTTER,TUBE,ADJUSTOMATIC,1/4 TO 2-3/8 IN
27 112941 |WHEEL,PIPE CUTTER, RIDGID #E3469
28 113212 |[DRIVER,NUT,KIT,10PC, 3/16 TO 9/16 IN.
29 113213 |DRIVER,NUT,METRIC UNIT SET, 7 PC
30 113214 |DRIVER,NUT,POWER BIT,MAGNETIC,1/4"
31 113215 [DRIVER,NUT,POWER BIT,MAGNETIC,5/16"
32 113216 [DRIVER,NUT,POWER BIT,MAGNETIC,3/8"
33 113217 |DRIVER,NUT, ND-108, 1/4 IN. 6 PT.
34 113218 |DRIVER,NUT, ND-109, 9/32 IN. 6 PT.
35 113219 |DRIVER,NUT, ND-110, 5/16 IN. 6 PT.
36 113220 |DRIVER,NUT, ND-111,11/32 IN. 6 PT.
37 113221 |DRIVER,NUT, ND-112, 3/8 IN. 6 PT.
38 113222 |DRIVER,NUT, ND-114, 7/16 IN. 6 PT.
39 113223 |DRIVER,NUT, ND-116, 1/2 IN. 6 PT.
40 113224 |DRIVER,NUT, ND-118, 9/16 IN. 6 PT.
41 113225 |DRIVER,NUT, ND-120, 5/8 IN. 6 PT.
42 113296 |FRAME,HACKSAW,HVY DUTY,W/BLADE STG, 12"
43 113302 |GUN,CAULKING,HALF BARREL,DROP-IN CARTRDG
44 113310 |[HAMMER,BALL PEIN, 1/2LB, 10 to 12-1/2"

8/17/2016



45 113311 |HAMMER,BALL PEIN, 1 LB, 10 OR 14 IN.HNDL
46 113313 |HAMMER,BALL PEIN, 2 LB, 14 OR 16 IN.HNDL
47 113316 |[HAMMER,SF-3 SOFT HD,W/RUBBER GRIP, 3 LB.
48 113317 |HAMMER,CLAW,FIBERGLAS HANDLE, 16 OZ.

49 113318 |HAMMER,RIPPING,FIBERGLAS HANDLE, 16 OZ.
50 113319 [HAMMER,SCALING,W/FIBERGLAS HANDLE, 16 OZ
51 113320 |HAMMER,ENGINEER, 48 OZ.

52 113321 |HAMMER,BLACKSMITH,DOUBLE FACE,4 LB,30 IN
53 113323 |HAMMER,SLEDGE,2 FACE,W/HANDLE,H-8-H,8 LB
54 113324 |HAMMER,SLEDGE,2 FACE,W/HANDLE,H-10-H,10#
55 113327 |HANDLE,FILE,LONG FERRULE,LUTZ #2

56 113328 |HANDLE,FILE,LONG FERRULE,LUTZ #3

57 113329 |HANDLE,FILE,LONG FERRULE,LUTZ #4

58 113330 |HANDLE,FILE,LONG FERRULE,LUTZ #5

59 113333 |HANDLE,HAMMER,BALL PEIN, 12 IN.

60 113334 |HANDLE,HAMMER,BALL PEIN, 14 IN.

61 113335 |HANDLE,HAMMER,BALL PEIN, 16 IN.

62 113336 |HANDLE,HAMMER,BALL PEIN, 18 IN.

63 113337 |HANDLE,HAMMER,BALL PEIN, 20 IN.

64 113339 |HANDLE,HAMMER,NAIL TYPE, 14 IN.

65 113340 |HANDLE,HAMMER,NAIL TYPE, 16 IN.

66 113341 |HANDLE,HAMMER,SLEDGE, 30 IN.

67 113342 |HANDLE,HAMMER,SLEDGE, 36 IN.

68 113353 |HOE,4-1/4 X 6 IN.X 4-3/4 FT.

69 113356 |HOOK,PACKING,FLEXIBLE, #1

70 113357 |HOOK,PACKING,FLEXIBLE, #2

71 113360 |HOOK,MANURE,4-TINE

72 113361 |HOOK,HEAVY,POTATO/REFUSE,4-TINE

73 113362 |KNIFE,PUTTY,STIFF BLADE, 1-1/4 IN.

74 113363 [KNIFE,RUBBER,SQUARE POINT, HYDE #H5X

75 113364 |KNIFE,SAFETY,W/RETRACTABLE BLADE

76 113367 |LEVEL,TORPEDO,DIE CAST ALUM,TOP READ, 9"
77 113369 |LEVEL,CARPENTER'S,W/45 DEG.VIAL, 24 IN.

78 113370 |LIGHTER,FRICTION,SPARK,ROUND FILE TYPE

79 113371 |FLINT,RENEWAL,FOR SPARK LIGHTER

80 113388 |MARKER,PAINT,VALVE ACTION,YELLOW

81 113389 |MARKER,PAINT,VALVE ACTION, RED

82 113390 |MARKER,PAINT,VALVE ACTION, BLACK

83 113399 |PLANE,BLOCK,6 IN.LENGTH,1-5/8 IN.CUTTER

84 113411 |PLIERS,RETAINING RING,STRAIGHT,5-3/4 IN.

85 113412 |PLIERS,RETAINING RING,STRAIGHT, 8 IN.

86 113415 |[PLIERS,SIDE CUTTER,9",DIPPED HANDLES

87 113416 |PLIERS,SIDE CUTTER,W/FISH TAPE PULL GRIP

88 113417 |[PLIERS,END CUTTING, KLEIN #D232-8

89 113418 |PLIERS,DIAGONAL CUTTING W/ANGLE HEAD

90 113419 |PLIERS,NEEDLE NOSE,LONG,KLEIN#D3285-1/2C
91 113420 |[PLIERS,LONGNOSE,W/SIDE CUT+SKINNING HOLE

8/17/2016



92 113421 |PLIERS,SLIP JOINT,THIN,CRESCENT #L-26V

93 113422 |PLIERS,LONG NOSE, 7 IN. KLEIN #D-203-7

94 113424 |PLIERS,PUMP, 9-1/2 IN. CHANNELOCK #420

95 113425 |PLIERS,PUMP, 12 IN. CHANNELOCK #440

96 113426 |PLIERS,BUTTON NOSE,FENCE TOOL, 10"

97 113427 |PLIERS,0BLIQUE CUTTING,SEMI-FLUSH.

98 113428 |PLIERS,WIRE STRIPPER AND CUTTER.

99 113429 |TOOL,CRIMPING, KLEIN #1006

100 113447 |RAKE,FLEXIBLE STEEL,22 TEETH,LONG HANDL
101 113448 |RAKE,STEEL,14 TEETH, LONG HANDLE

102 113449 |REEL,CHALK LINE,STANLEY #47-120, 100 FT.
103 113452 [RULE,FOLDING WOOD,W/SLIDE EXT.+HOOK, 6FT
104 113453 |RULE,FOLDING WOOD,ENGINEER'S, 6 FT.

105 113454 |RULE,TAPE,METAL,POWERLOCK,3/4 IN.X 16 FT
106 113455 |RULE,TAPE,METAL,POWERLOCK,1 IN.X 25 FT
107 113456 |RULE,TAPE,SHOWS FT,IN,+EIGHTHS, 50 FT.L.
108 113457 |RULE,TAPE,SHOWS FT,IN,+EIGHTHS,100 FT.L.
109 113458 |RULE,FOLDING WOOD,INSIDE MARKINGS, 6 FT.
110 113459 |SAW,COPING,5 INCH DEEP,6-1/2 IN. LENGTH
1131 113460 |BLADE,ROD SAW,CARBIDE,GRIT EDGE

112 113507 |DIGGER,POST HOLE, 4 FT. HANDLE

113 113508 |DIGGER,POST HOLE, 6 FT. HANDLE

114 113509 |SCRAPER,WOOD, RED DEVIL #3050

115 113514 |TAPING KNIFE/SCRAPER,FLEXIBLE,6"

116 113515 |SCRAPER,WALL,FLEXIBLE BLADE,3 IN.

117 113516 |SCRAPER,ICE,5X 7 IN.

118 113517 |SCRAPER,WALL,STIFF BLADE, 3 IN.

119 113519 |SCREWDRIVER,SCREW HOLDING, 7"

120 113520 [SCREWDRIVER,FLAT BLADE,2 POINT, 3 IN.

121 113521 |HOLDER,BIT,MAGNETIC,F/1/4"HX INSERT,3"L.
122 113522 |SCREWDRIVER,PHIL,#0 PT,F/#2+SMALLER,5"L.
123 113523 |[SCREWDRIVER,PHIL,#1 PT,F/#2-#4 SCRW,6"L.
124 113524 [SCREWDRIVER,PHIL,#2PT,F/#5-9 SCRW,7-3/4"
125 113525 |SCREWDRIVER,PHIL,#3PT,F/#10-165CRW,10.5"
126 113526 |SCREWDRIVER,PHIL,#4PT,F/#10-UP SCRW,10"L
127 113527 |[SCREWDRIVER,PHIL#2PT,F/#5-9 SCRW, 1.5"L
128 113528 [SCREWDRIVER SET, JEWELER'S

129 113532 [SCREWDRIVER,STD.TIP,1/4 X 4"BLADE,7-3/4L
130 113533 |SCREWDRIVER,STD.TIP, 6 IN.FLAT BLADE

131 113534 |SCREWDRIVER,STD.TIP,3/8 X 8"BLADE,13"L.
132 113535 [SCREWDRIVER,STD.TIP,1/2X12"BLADE,17-1/2L
133 113536 [SCREWDRIVER,STD.TIP,1/4"BLADE,3-3/8 IN.L
134 113537 |SCREWDRIVER,SCREW HOLDING, 4"

135 113556 |SHOVEL, ROUND NOSE, 47 IN.LONG HANDLE
136 113557 [SHOVEL, ROUND NOSE, SHORT HANDLE

137 113558 [SHOVEL, SQUARE NOSE, LONG HANDLE

138 113559 [SHOVEL, SQUARE NOSE, SHORT HANDLE

8/17/2016



139 113563 [PUSHER,SNOW,ALUMINUM, 24" X 12"

140 113564 |SHOVEL,SNOW,TFE COATED ALUM,14-1/2 X 18"
141 113566 |SHEARS,UTILITY,HVY DUTY,8 IN.,WISS #2-DA
142 113567 |SNIPS,METAL CUTTING,LEFT CUT,VINYL GRIP
143 113568 |SNIPS,METAL CUTTING,RIGHT CUT,VINYL GRIP
144 113569 |SNIPS,METAL CUTTING,STRGT CUT,VINYL GRIP
145 113571 [SHOVEL,DRAIN SPADE,5-1/2" X 16" BLADE

146 113572 |[SQUARES,TRY,PROFESSIONAL, 8 IN.

147 113573 [SQUARES,COMBINATION,W/LEVEL+GLASS, 12 IN
148 113574 |SQUARES,CARPENTER,2 IN.TONGUE,24 IN.BODY
149 113575 [SQUARE,SPEED,CARPENTER,SWANSON #00101
150 113634 |WRENCH SET,HEX KEY,ALLEN,9PC,5/64 TO 3/8
151 113637 |WRENCH SET,HEX KEY,ALLEN,20PC,.028-.750"
152 113642 |[TORCH,PROPANE,SELF-IGN/AUTO-EXT,#TS7000T
153 113647 |WEDGES,TOOL, 3/8 IN.WIDE, RED DEVIL #4

154 113677 |WRENCH,ADJUSTABLE,STANDARD,INDL., 4 IN.
155 113678 [WRENCH,ADJUSTABLE,STANDARD,INDL., 6 IN.
156 113679 |WRENCH,ADJUSTABLE,STANDARD,INDL., 8 IN.
157 113680 |WRENCH,ADJUSTABLE,STANDARD,INDL., 10 IN
158 113681 |WRENCH,ADJUSTABLE,STANDARD,INDL., 12 IN
159 113682 |WRENCH,ADJUSTABLE,STANDARD,INDL., 15 IN
160 113683 |WRENCH,ADJUSTABLE,STANDARD,INDL., 18 IN
161 113693 [WRENCH SET,COMBINATION,8PC,1/8 TO 3/8 IN
162 113730 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 6 IN.
163 113731 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 8 IN.
164 113732 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 10 IN.
165 113733 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 12 IN.
166 113734 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 14 IN.
167 113735 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 18 IN.
168 113736 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 24 IN.
169 113737 |WRENCH,PIPE,HVY DUTY,ADJUSTABLE, 36 IN.
170 113744 |WRENCH,TAP,T HANDLE,TAP SIZE:1/16-1/4 IN
171 113745 |WRENCH,TAP,T HANDLE,TAP SIZE:5/32-1/2 IN
172 113747 |WRENCH,VISE GRIP,VISE-GRIP #7R

173 113748 |WRENCH,VISE GRIP,SHT.MTL.TOOL, V.G.#8R
174 113749 |WRENCH,VISE GRIP,10", "VISE GRIP # 10R

175 114234 |SCREWDRIVER,CABINET TIP,3/16"X5-3/4",9"L
176 114264 |BLADE,JIGSAW,14TPI,3"LONG, METAL CUTTING
177 114265 |BLADE,JIGSAW,8 TP1,4"LONG,METAL CUTTING
178 114266 |[BLADE,JIGSAW,10 TP1,4"LONG,WOOD CUTTING
179 114267 |BLADE,JIGSAW,20 TPI,3"LONG,WOOD CUTTING
180 114268 |BLADE,JIGSAW,18 TPI,3"LONG,METAL CUTTING
181 115817 |BLADE,SAWZALL,DEMOLITION,WOOD,5/8T,9"
182 115818 |BLADE,SAWZALL,DEMOLITION,METAL,14T,9"
183 115819 |BLADE,SAWZALL,WOOD SCROLL,4/6T,6" TAPER
184 115820 |BLADE,SAWZALL, 18T, 9", METAL 1/8-3/16"
185 115821 |BLADE,SAWZALL,GEN.PUR.,STRAIGHT.10T X 6"

8/17/2016



186 115834 |BLADE,SAWZALL,METAL SCROLL,18T,3-5/8"
187 115835 |BLADE,SAWZALL,WOOD SCROLL,10T, 3-5/8"
188 115836 |BLADE,SAWZALL,METAL SCROLL,14T,3-5/8"
189 115837 |BLADE,SAWZALL, 14T,4",METAL 3/16-1/4"
190 115838 |BLADE,SAWZALL, 24T,6", METAL UP TO 1/8"
191 115839 |BLADE,SAWZALL,18T,4",METAL 1/8-3/16"

8/17/2016



#16B51-HAND TOOLS

ltem MM # DESCRIPTION
1 112654 |ARBOR,HOLESAW,UP TO 1-13/16",1/2"HX SHFT
2 112655 |ARBOR,HOLESAW,1-1/4 TO 6", 7/16 HX SHAFT
3 112656 |DRILL,PILOT,FOR ARBORS, 1/4 X 4 IN.
4 112730 |BIT,ROUTER,(OG),B.B.GUIDE, 5/32 IN. RAD.
5 112731 |[BIT,ROUTER,(OG),B.B.GUIDE, 1/4 IN.RAD.
6 112733 |(BIT,ROUTER,(CR),B.B.GUIDE, 1/4 IN.RAD.
7 112734 |BIT,ROUTER,(CR),B.B.GUIDE, 3/8 IN.RAD.
8 112735 |[BIT,ROUTER,(CR),B.B.GUIDE, 1/2 IN.RAD.
9 112736 |BIT,ROUTER,(BD),B.B.GUIDE, 1/4 IN.RAD.
10 112737 |BIT,ROUTER,(BD),B.B.GUIDE, 3/8 IN.RAD.
11 112738 |BIT,ROUTER,(HB),1/2 IN.DIA,1-1/2 IN.LNTH
12 112739 |[BIT,ROUTER,(LT),1/4 IN.PILOT, 1/4 IN.CUT
13 112740 |BIT,ROUTER,(LT),13/64 IN.PILOT, 1/4" CUT
14 112742 |BIT,ROUTER,DOUBLE FLUTE,TYPE O & 22 DEG.
15 112749 |BIT,ROTARY HAMMER,ELECTRIC,3/16"X 6"
16 112750 |BIT,ROTARY HAMMER,ELECTRIC,1/4"X 6"
17 112751 |BIT,ROTARY HAMMER,ELECTRIC,5/16"X 6"
18 112752 |BIT,ROTARY HAMMER,ELECTRIC,3/8"X 6"
19 112753 |BIT,ROTARY HAMMER,ELECTRIC,3/8"X 12"
20 112754 |BIT,ROTARY HAMMER,ELECTRIC,1/2"X 6"
21 112755 |BIT,ROTARY HAMMER,ELECTRIC,1/2"X 18"
22 112756 |BIT,ROTARY HAMMER,ELECTRIC,5/8"X 8"
23 112757 |BIT,ROTARY HAMMER,ELECTRIC,5/8"X 18"
24 112758 |BIT,ROTARY HAMMER,ELECTRIC,3/4"X 8"
25 112759 |BIT,ROTARY HAMMER,ELECTRIC,3/4"X 18"
26 112837 [BRUSH,WIRE,SCRATCH,SHOE HNDL,S.S,10 IN.L
27 112838 |BRUSH,WIRE,SCRATCH,SHOE HNDL,BRZ,10 IN.L
28 112839 [BRUSH,WIRE,4 X 19 ROW,13-3/4"X5/8"
29 112840 |BRUSH,WIRE,6 X 19 ROW,7-1/2"X2-1/4"
30 112841 [BRUSH,WIRE,4 X 16 ROW,10-1/4" X 1-1/8"
31 112842 |BRUSH,WIRE,2 X 17 ROW, 10" X 5/8"
32 112843 |BRUSH,WIRE,SCRAPER,4 X 11 ROW,11"X1-5/8"
33 112846 |BRUSH,WIRE,SS,CURVED,3X7 ROW,7-1/2"X1/2"
34 112850 |BRUSH,WIRE WHEEL,KNOT,3.5"DIA, 5/8-11HUB
35 112851 |BRUSH,WIRE WHEEL,CRMPD,3.5"DIA,5/8-11HUB
36 112852 |BRUSH,WIRE,WHEEL,KNOT,4"DIA, 5/8-11 HUB
37 112853 |BRUSH,WIRE WHEEL,CRMPD,4"DIA,5/8-11 HUB
38 113042 |BIT,DRILL, TAPER,F/COUNTERSINK,7/32" #12
39 113043 |BIT,DRILL, TAPER,F/COUNTERSINK,9/64" #6
40 113044 |BIT,DRILL, TAPER,F/COUNTERSINK,11/64",#8
41 113045 |BIT,DRILL, TAPER,F/COUNTERSINK,13/64",#10
42 113046 |[COUNTERSINK,3/8"F/9/64"BIT,FULLER#C-6
43 113047 [COUNTERSINK,3/8"F/11/64"BIT,FULLER#C-8
a4 113048 |COUNTERSINK,1/2"F/13/64"BIT,FULLER#C-102

8/17/2016



Item MM # DESCRIPTION

45 113049 |COUNTERSINK,1/2"F/7/32"BIT,FULLER#C-12
46 113052 |[DRILL & C/SINK, TRADE NO.2, 5/64 IN.

47 113053 |DRILL & C/SINK,TRADE NO.3, 7/64 IN.

48 113054 |DRILL & C/SINK,TRADE NO.5, 3/16 IN.

49 113055 |DRILL & C/SINK, TRADE NO.6, 7/32 IN.

50 113058 |DRILLS,MASONRY,CARBIDE TIP,AUGER PT,3/16
51 113060 |DRILLS,MASONRY,CARBIDE TIP,AUGER PT,1/4"
52 113063 |DRILLS,MASONRY,CARBIDE TIP,AUGER PT,5/16
53 113066 |[DRILLS,MASONRY,CARBIDE TIP,AUGER PT,3/8"
54 113072 [DRILLS,MASONRY,CARBIDE TIP,AUGER PT,1/2"
55 113089 |DRILL,HIGH SPEED, LETTER F, .2570 IN.

56 113093 |DRILL,HIGH SPEED, LETTER J, .2770 IN.

57 113106 |DRILL,HIGH SPEED, LETTER X, .3970 IN.

58 113109 |TWIST DRILL SET,BITS #1 TO 60,COMPLETE

59 113111 [DRILL, TWIST,HIGH SPEED, 1/16 IN.

60 113112 |DRILL, TWIST,HIGH SPEED, 5/64 IN.

61 113113 |DRILL, TWIST,HIGH SPEED, 3/32 IN.

62 113115 |[DRILL, TWIST,HIGH SPEED, 7/64 IN.

63 113116 |DRILL, TWIST,HIGH SPEED, 1/8 IN.

64 113120 |DRILL,TWIST,HIGH SPEED, 5/32 IN.

65 113122 |[DRILL, TWIST,HIGH SPEED, 11/64 IN.

66 113124 |DRILL, TWIST,HIGH SPEED, 3/16 IN.

67 113126 |DRILL,TWIST,HIGH SPEED, 13/64 IN.

68 113127 |[DRILL, TWIST,HIGH SPEED, 7/32 IN.

69 113128 |DRILL, TWIST,HIGH SPEED, 15/64 IN.

70 113129 |[DRILL, TWIST,HIGH SPEED, 1/4 IN.

71 113131 |DRILL, TWIST,HIGH SPEED, 17/64 IN.

72 113132 |[DRILL, TWIST,HIGH SPEED, 9/32 IN.

73 113133 [DRILL, TWIST,HIGH SPEED, 19/64 IN.

74 113134 [DRILL, TWIST,HIGH SPEED, 5/16 IN.

75 113136 |DRILL, TWIST,HIGH SPEED, 11/32 IN.

76 113137 |DRILL, TWIST,HIGH SPEED, 23/64 IN.

77 113138 [DRILL, TWIST,HIGH SPEED, 3/8 IN.

78 113139 |DRILL, TWIST,HIGH SPEED, 25/64 IN.

79 113140 |DRILL, TWIST,HIGH SPEED, 13/32 IN.

80 113141 |[DRILL, TWIST,HIGH SPEED, 27/64 IN.

81 113142 |DRILL, TWIST,HIGH SPEED, 7/16 IN.

82 113143 |DRILL, TWIST,HIGH SPEED, 29/64 IN.

83 113144 |DRILL, TWIST,HIGH SPEED, 15/32 IN.

84 113145 [DRILL, TWIST,HIGH SPEED, 31/64 IN.

85 113146 |[DRILL, TWIST,HIGH SPEED,STD.SPIRAL, 1/2"

86 113158 |DRILL, TWIST,HIGH SPEED, #7

87 113159 |DRILL, TWIST,HIGH SPEED, #8

88 113163 |DRILL, TWIST,HIGH SPEED, #13

89 113166 |DRILL, TWIST,HIGH SPEED, #16

8/17/2016



Item MM # DESCRIPTION

90 113170 |DRILL, TWIST,HIGH SPEED, #20

91 113171 |DRILL, TWIST,HIGH SPEED, #21

92 113175 |DRILL, TWIST,HIGH SPEED, #25

93 113177 |DRILL, TWIST,HIGH SPEED, #27

94 113179 |DRILL, TWIST,HIGH SPEED, #29

95 113181 |DRILL, TWIST,HIGH SPEED, #31

96 113183 |[DRILL, TWIST,HIGH SPEED, #34

97 113184 |DRILL, TWIST,HIGH SPEED, #35

98 113185 |DRILL, TWIST,HIGH SPEED, #36

99 113194 |[DRILL, TWIST,HIGH SPEED, #45

100 113196 |DRILL, TWIST,HIGH SPEED, #47

101 113210 |[DRILL,STEP,GREENLEE #34401, 1/2 IN.
102 113211 |DRILL,STEP,GREENLEE #34403, 7/8 IN.
103 113391 |NAILSET, TIP SIZE:1/32 IN., 4 IN.LONG
104 113392 |NAIL SET, TIP SIZE:2/32 IN., 4 IN.LONG
105 113393 |NAIL SET,TIP SIZE:3/32 IN., 4 IN.LONG
106 113433 [PUNCH,CENTER, 1/4 X 4 IN.

107 113434 |PUNCH,CENTER, 3/8 X 5 IN.

108 113436 |PUNCH,CENTER, 1/2 X 6 IN.

109 113440 |PUNCH,DRIFT/TAPER, 1/4 X 12 IN.

110 113441 [PUNCH,DRIFT PIN, 5/16 X 9 IN.

111 113442 |PUNCH,DRIVE PIN,5PC SET,LONG,1/8 TO 3/8"
112 113443 |PUNCH,DRIVE PIN,8PC SET,SHORT,1/16-5/16"
113 113444 [PUNCH,DRIVE PIN,#B, 3/32 X 19/64 X 4 IN.
114 113445 [PUNCH,DRIVE PIN,#C, 1/8 X 19/64 X 4 IN.
115 113446 [PUNCH,DRIVE PIN,#C, 5/32 X 19/64 X 4 IN.
116 113464 [SAW,HOLE, LHS-18, 9/16 IN.

117 113465 |SAW,HOLE, LHS-20, 5/8 IN.

118 113466 |SAW,HOLE, LHS-22, 11/16 IN.

119 113467 [SAW,HOLE, LHS-24, 3/4 IN.

120 113468 |[SAW,HOLE, LHS-26, 13/16 IN.

121 113469 |SAW,HOLE, LHS-28, 7/8 IN.

122 113470 |SAW,HOLE, LHS-30, 15/16 IN.

123 113471 |SAW,HOLE, LHS-32, 1 IN.

124 113472 [SAW,HOLE, LHS-34, 1-1/16 IN.

125 113473 [SAW,HOLE, LHS-36, 1-1/8 IN.

126 113474 [SAW,HOLE, LHS-38, 1-3/16 IN.

127 113475 [SAW,HOLE, LHS-40, 1-1/4 IN.

128 113476 |SAW,HOLE, LHS-42, 1-5/16 IN.

129 113477 |SAW,HOLE, LHS-44, 1-3/8 IN.

130 113478 [SAW,HOLE, LHS-48, 1-1/2 IN.

131 113479 [SAW,HOLE, LHS-52, 1-5/8 IN.

132 113480 |SAW,HOLE, LHS-56, 1-3/4 IN.

133 113481 |[SAW,HOLE, LHS-60, 1-7/8 IN.

134 113482 |SAW,HOLE, LHS-64, 2 IN.

8/17/2016



item MM # DESCRIPTION
135 113483 |SAW,HOLE, LHS-66, 2-1/16 IN.
136 113484 |SAW,HOLE, LHS-68A, 2-1/8 IN.
137 113485 |SAW,HOLE, LHS-72A, 2-1/4 IN.
138 113486 |SAW,HOLE, LHS-76A, 2-3/8 IN.
139 113487 |SAW,HOLE, LHS-80A, 2-1/2 IN.
140 113488 |SAW,HOLE, LHS-88, 2-3/4 IN.
141 113489 |SAW,HOLE, LHS-92, 2-7/8 IN.
142 113490 |[SAW,HOLE, LHS-96, 3 IN.
143 113491 |SAW,HOLE, 3-1/4 IN.
144 113492 |SAW,HOLE, 3-3/8 IN.

145 113493 |SAW,HOLE, LHS-112, 3-1/2 IN.
146 113494 [SAW,HOLE, LHS-128A, 4 IN.
147 113495 [SAW,HOLE, LHS-132, 4-1/8 IN.
148 113497 |SAW,HOLE,FOR STAINLESS STEEL, 7/8 IN.
149 113498 |SAW,HOLE,FOR STAINLESS STEEL, 1-1/8 IN.
150 113499 [SAW,HOLE,FOR STAINLESS STEEL, 1-3/8 IN.
151 113500 [SAW,HOLE,FOR STAINLESS STEEL, 1-3/4 IN.
152 113501 |SAW,HOLE,FOR STAINLESS STEEL, 2 IN.
153 113502 |SAW,HOLE,FOR STAINLESS STEEL, 2-1/2 IN.
154 113503 |SAW,HOLE,FOR STAINLESS STEEL, 3 IN.
155 113504 |SAW,HOLE,FOR STAINLESS STEEL, 3-5/8 IN.
156 113505 |SAW,HOLE,FOR STAINLESS STEEL, 4-1/8 IN.
157 113506 |SAW,HOLE,FOR STAINLESS STEEL, 4-1/2 IN.
158 113585 |[TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,1/4-20
159 113586 |TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,5/16-18
160 113587 |TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3, 3/8-16
161 113588 |TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,7/16-14
162 113590 |TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,1/2-13
163 113592 |TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3, 5/8-11
164 113593 |TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3, 3/4-10
165 113594 |TAPS,BOLT,N.F,3PC SET,HS,4 FLUTE, #10-32
166 113604 |TAPS,PIPE,TAPER,NPT,HS,4 FLUTE, 1/8-27
167 113605 |TAPS,PIPE,TAPER,NPT,HS,4 FLUTE, 1/4-18
168 113606 |TAPS,PIPE, TAPER,NPT,HS,4 FLUTE, 3/8-18
169 113607 |TAPS,PIPE,TAPER,NPT,HS,4 FLUTE, 1/2-14
170 113608 |TAPS,PIPE,TAPER,NPT,HS,5 FLUTE, 3/4-14
171 113609 |TAPS,PIPE, TAPER,NPT,HS,5 FLUTE,1" 11-1/2
172 113610 |TAPS,PIPE,TAPER,NPT,HS,5 FL,1-1/4"11-1/2
173 113611 |TAPS,PIPE,TAPER,NPT,HS,7 FL,1-1/2"11-1/2
174 113612 |TAPS,PIPE,TAPER,NPT,HS,7 FL, 2 IN-11-1/2
175 113615 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,#8-32
176 113617 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,#10-24
177 113618 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,#10-32
178 113619 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,#12-24
179 113620 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,1/4"-20

8/17/2016



Item MM # DESCRIPTION

180 113621 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,5/16"-18
181 113622 [TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,3/8"-16
182 113623 [TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,1/2"-13
183 113624 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,5/8"-11
184 113626 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,7/8"-9
185 113627 |TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,1"-8

186 113633 |PUNCH TOOL SET,9PC,1/4 TO 1",SELF-CENTER
187 113652 |WHEEL,GRINDING,24 GRIT,4.5"DIA,7/8 BORE
188 113653 [WHEEL,FLAPDISC,36GRIT,4.5"DIA,5/8-11ARB
189 113655 |WHEEL,GRINDING,5 IN.DIA, 5/8 THRD.ARBOR
190 113658 |WHEEL,GRINDING,A24,GOLD,7"DIA, 5/8 THRD.
191 113662 |WHEEL,CUT OFF,A36T GRIT,3 X 1/16 X 3/8"
192 113666 [WHEEL,CUT OFF, 7-1/4 X 1/8 IN.

193 114430 |DRILL,TWIST,SET,1/16-1/2"BY 1/64",29 PCS
194 114432 |BRUSH,WIRE,F/COPPER TUBE,1/2" & 3/4"NOM.
195 115678 |WHEEL,CUTOFF,24 GRIT,4-1/2"X1/8"X7/8"
196 116362 |ABRASIVE,WHEEL,CUTOFF,4-1/2"X.045"X7/8"

8/17/2016



